CANADIAN MATHEMATICS 8

4.8 ORDER OF OPERATIONS WITH INTEGERS

A. Calculate each of the following using the rules for.order of operations.
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(+19) + (-7) + (-6) + (+10)
(+36) + [(+3) = (B + (+4)
(+19) x [(+6) + (-6)]

(-5) x(-4) +(+2)

(+48) = [(-6) + (+D] - (+8)

C(+28) = () + (F3) x (-8)

. (-64) +[(-6) +(-3)]

(-8) x(9) + (-15) + (-9

L (423) + (+15) = (+9) x (+3)
C(+144) = (+12) = (3)
L= + (+16) + (B3] + (+2)
L [(+18) = (B)] + (+2) x (-10)
. (+49) + (+8) = (+8) + (+49)
C(4+6) x (+5) = (2) +(-5)

L (423) - (+6) x(+2) = (+4)
C(43)2 + (3)? |

L (HT) + (+9) + (+8)

(+5) + (+2) + (+5)

C (5 x (4 + (4

(-3) x (+3) + (+3)

L (+14) + (+6) — (49 x(+2)

[(+15) - (+6)] - (+6)
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C(+15) + (21) = (+3) + (-3)

(+19) + (-36) + (-15) x (-3)

(425) + (+37) + (-8) + (9 + (-0)
L (+7) x[(-9) + (5] + (+6)

(+10) + (+3) x(+14) - (+6)
(+7) - (+3) - (+4) + (-0)
(+7) + (+96) = (+3)

(-3) + (-8) + (-9) + (+3)
[(+9) x (+D] = [(+7) x (9]
(-39) = [(-10) + (-3)] - (+3)
[(+36) = (-6)] x(-2) + (+4)
(+100) = (4) + (-25)

(+30) <+ (-15) x(-8) + (+10)
(+93) - (+3) x (+30) -(+3)
(-6) + (2) + (3) x (4
(+2)° + (-2’

(+3) x [(+15) + (3
(+6) x [(+11) + (-8)]
(+12) x [(-7) + (5]
(+64) =+ [(-7) + (+5)]

C(463) = (+7) x (1)
(+21) +(-3) x (+3)
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